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1 =g 35 42 77 8 69 10
2 PN 45 43 88 10 78 21
3 BAEZ 42 46 88 10 78 26
4 Hep—E 37 44 81 3 78 2
5 HIEETE 42 50 92 12 80 3
6 FilLxEE 46 42 88 7 81 18
7 K H i 39 43 82 1 83 2
8 B 50 53 103 14 89 10
(=T DEB

1 BISETE 41 49 90 16 74 6
2 EFIE— 46 44 90 9 81 12
3 EES 46 53 99 18 81 3
4 REMEH 46 51 97 13 84 21

(YR =7 DER

1 @ 42 45 87 11 76 22
2 i) 41 43 84 7 77 7
3 SRS 46 45 91 12 79 22
4 B — 47 50 97 17 80 9
5 T 46 53 99 14 85 15

(TSR =7 DEB

1 AAREX 42 42 84 11 73 19
2 PR INKF 50 46 96 18 78 9
3 ILEABEA 45 47 92 14 78 26
4 aEFC 42 47 89 10 79 7
5 WFH AT 47 47 94 11 83 25




EIFES 50 56 106 15 91 3
HEXE N R 31




